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Daily Quiz 07

Started: Sep 7 at 2:48pm
Quiz Instructions

This quiz covers section 2.2, You have 30 minutes to complete the quiz.

| S

Question 1 6 pts

)
Find the equation of the tangent kne to the graph of f [r) = Z ] when x=-1.
£

Note: To answer this question, put your answer in slope-intercept form, y=mx+b, and just enter the m and b values in the
boxes below, as shown. Use NO spaces. Give exact, not approximated, values.

Tangent Line:  y = X+

Question 2 4 pts

In this pictura, both the graph of the function and the graph of its derivative are on the same coordinate axes. Which ane is
which?
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1. Find each limit, if it exists.
(a) lim (—=4x"+3x°+5x" 1)

X

(b) ﬁ’u w
x=ud 3x—12

(] fim =5+ x2—5x+4
smo 843X 49x°

6

() fim —4x%° +x—100
X 10x+8
. (x—=1)x+3
(e) hm(—z-l-——)
X=+5 X —25
. sin(2x)tan(5x)—2x cos x
0y ellents

2. Find the equation of the tangent linetothe curve 1 (x)=3x"—4x’+5 at x=1

(x+2)(3x~5)—x%)

3. For f(x)=4(3x2+x—10)(x—])

(a) Find the x-valueswhere f(x) is discontinuous and categorize the type of
discontinuity,

(b) For what x-values is this function "patchableg"

4, Use the definition of the derivative, namely f'(x)=lim f (x+hh)—-f (x) . to find the

h—0
4
x—2

derivative for f(x)=

5. For this piecewise function.
x+5 =5=<x<0
glx)= -1 0<x<3
—-x+5 x>3

{(a) Graph this function,



Now, evaluate the following, or state that the answer does not exist.

x=3

(c] lim g(x

x—5

(b) lim g(x)
)

(d) lim g(x]
(e) Tim g(x)
(IK)
{g) g(0)

6. Find the derivatives of the following functions.
Don't simplify!

2%+ 6%+ 1
(a) [lx)==20=
X +x

) f(x)=(2x"+4x7=6)(x"+3x")

(c) f(x)=n’+nx
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